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Corrigé de l’exercice 1

Compléter :

◮1.
5 880

100
= 58,8

◮2.
9 340

100
= 93,4

◮3.
47 400

100
= 474

◮4.
38390

10 000
= 3,839

◮5.
1795

1 000
= 1,795

◮6.
17 590

100
= 175,9

Corrigé de l’exercice 2

Compléter :

◮1.
8 639

100
= 86,39

◮2.
4643

10
= 464,3

◮3.
2 145

100
= 21,45

◮4.
564

1000
= 0,564

◮5.
5741

100
= 57,41

◮6.
37200

10 000
= 3,72

Corrigé de l’exercice 3

Compléter :

◮1.
2410

10 000
= 0,241

◮2.
28 760

100
= 287,6

◮3.
2039

10
= 203,9

◮4.
65 090

1000
= 65,09

◮5.
7 367

10
= 736,7

◮6.
15 000

1000
= 15

Corrigé de l’exercice 4

Compléter :

◮1.
23 660

100
= 236,6

◮2.
19 300

1000
= 19,3

◮3.
48 470

10 000
= 4,847

◮4.
6 874

100
= 68,74

◮5.
14 360

1 000
= 14,36

◮6.
5 083

100
= 50,83

Corrigé de l’exercice 5

Compléter :

◮1.
9 964

10
= 996,4

◮2.
9676

10
= 967,6

◮3.
7 096

1000
= 7,096

◮4.
83750

100
= 837,5

◮5.
1 880

10
= 188

◮6.
5 111

10
= 511,1

Corrigé de l’exercice 6

Compléter :

◮1.
2787

10
= 278,7

◮2.
2 359

1000
= 2,359

◮3.
5 657

10
= 565,7

◮4.
68 070

10000
= 6,807

◮5.
8 166

1 000
= 8,166

◮6.
34 660

10000
= 3,466
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